Haiitu I/IHTePpaJI

dx

L. f (x2— 4x—|—3 5x 2)

9 f 3+2x +3 da:

4x4+2x —x—3
f )(z+1) dﬂf

4 f 3x2—12 d.T

23 2
+6x +13I+9
5 f (z+1) x+2 dﬂj’

6f x—3:1:+1 dil?

x2x5x2

7 f 225 —8x34-3 dLL"

(x2—22)(5x—2)

—512 —|—5x—|—23
8 f (r—1)(z+1)(x—5) dﬂ?

o} an: 537 —8x— de

)(z+2)

10. [ & 2045 Iy

—z—2)(2x-2)

23 2
+6x +13x+9
11 f m—i—l ac—|—2 d.ﬁl)

12f x26+8

13 f = 13—1-290 +3 dl’

14. 2’81 dx

(22—22—42)(22—3)

2
15 f T —l—6x +11:U 1() dl’




16 f 23 —622 +13x 6 dﬂf

l‘—|—2

3+5x —|—5x+23
17. f ot dzx

18 f o 323425 dﬂ'}

1)(x2—2—2)

19 f x —x3+1 dZC

2x4+2x3—41x +20
20. [ S 5) dx

21 f 2x3+1‘+1 dﬂj

22. [ et da

2—42+3)

23 f x +6$2+18£L' 4 dCE

x—|—2

3x3+9x —|—10x+2
24. f B dx

25 f 223 —402—8 dﬂf

(x2—42+3)(x—3)




